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goboon

#include <stdio.h>
#include <math.h>
#include<stdlib .h>
#include<string.h>
#include <time.h>
#include<ctype.h>

#include ” Shutter.h”
#include ”Fnumber.h”
#include ”Iso.h”
/* HHAO =x/
double longitude = 4+132.7767;
double lattitude = +434.3775;
double altitude = +511.2;
char strl[25], str2[25], str3[25], str4[25];
double ONEDEG = 0.017453292;
char fn [30];
char sp[30];
char iso [30];
char wh([30];
char *mid( char =, int, int );
char *convstr(char x*);
char *fitsdate (const struct tm =x);
char *fitstime (const struct tm *);
char *fitsdatemjd (const double);
char *fitstimemjd (const double);
char *fitsra (const double);
char «*fitsdec (const double);
double timetomjd(int, int, int, int, int, int);
double getmjdtm(struct tm x);
void mjdtotime (double, int =, int %, int =, int x*,
int %, int x);
double getst (double, double);
double getha(double, double);
double getzd (double, double, double);
double spls( double ); /*xx solar positionl
(celestial longitude, degree) xx*x/
double spds( double ); /*xx solar position2
(distance , AU) %%/
double spal( double ); /*xxx solar position3
(declination , degree) **x/
double spdl( double ); /*%x solar position4
(the right ascension, degree) xxx/
double sh( double, int, int, int, double, double);
/#*%x% Calculate sidereal hour (degree) xx%x/
double eandp( double, double); /*x*x Calculating the
seeming horizon altitude ”sa”(degree) x%x/
double sa( double, double);
double soal( double, double, double, double ); /xxx
Calculating solar alititude (degree) *xx/
double sodr( double, double, double, double ); /xx*x
Calculating solar direction (degree) *xx/
double hho_sunrise_today ( void );
double hho_sunset_today ( void );
char *mid(char xstring , int nl, int n2 ){

int i;

for( i=0; i<=(n2-1); i++ )

str1[i] = string[nl4i —1];

strl[n2] = ’\0’;

return( strl );
¥
/#x*x%x% CONVERSION OF STRING sk /

char *convstr(char *string){
sprintf( strl, "%s”, string );
return( strl );

}

/% x%x% CONVERSION from CONSTRUCT tm TYPE VARIABLE to
FITS STRING ks /
char xfitsdate (const
int tmpyear;
/**x*x before 1999 sk
sprintf(str2, ”%02d/%02d/%02d” , tmptime—>tm_mday,
(1 + tmptime—>tm_mon), tmptime—>tm_year );
*
/x*xxx after 2000 *x%x/
if ( tmptime—>tm_year > 70 )
tmpyear = 1900 4+ tmptime—>tm_year;
else
tmpyear =
sprintf(str2,
—>tm_mon) ,

struct tm xtmptime){

2000 + tmptime—>tm_year;
?%04d—%02d—%02d” , tmpyear ,
tmptime—>tm_mday );

(1 4+ tmptime

[xx/
return( str2 );
char *fitstime (const struct tm xtmptime){

»%02d:%02d:%02d” ,
tmptime—>tm_sec );

sprintf(str3,
tmptime—>tm_min ,

return(str3);
}

/**x%xx CONVERSION from
STRING  * k%% /

tmptime—>tm_hour ,

MJD(double precision) to FITS

char xfitsdatemjd (const double mjd){
int year, month, day, hour, min, sec;
mjdtotime (mjd, &year, &month, &day, &hour, &min,
&sec);
/%
if (year < 2000){
year —= 1900;
sprintf(str2, ”%02d/%02d/%02d”, day, month, year);
else{
sprintf(str2, ”"%4d—%02d—%02d” , year, month, day);
*/
sprintf(str2, ”%04d—%02d—%02d” , year , month, day);
return(str2);
}
char =fitstimemjd (const double mjd){
int year, month, day, hour, min, sec;
mjdtotime (mjd, &year, &month, &day, &hour, &min, &sec);
sprintf(str3, "%02d:%02d:%02d”, hour, min, sec);

return(str3);

/*xxxx*x RA (rad) —> FITS STRING sxsx*x%/
char xfitsra (const double a){

double b;

int h, m, s;

a%x57.2957795130824/15.0;

b + 0.000001; /* avoid numerical—round (?) =x/
(b — h) *x 60.0;

b 4+ 0.000001;

(b —m) *x 60.0;

b 4+ 0.000001;

sprintf(str2, ”%02d:%02d:%02d”, h, m,
return (str2);

woBoro

s);
}

/*xxxx+x DEC (RAD) —> FITS STRING s%x*%x/
char xfitsdec(const double a){

double b;

int d, m ,s;

char sn="+4"7;

b = a;
if (b < 0.0){
sn—="'_":

b = fabs(b);

b*x57.2957795130824;
b 4+ 0.000001; /*

AT

avoid numerical—round (7) =/
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b= (b —-d) = 60.0; subday *= 60.0;
m=b 4+ 0.000001; ksec = subday;
b= (b —-m) = 60.0;
s = b 4+ 0.000001;
sprintf(str3, "%c%02d:%02d:%02d”, sn, d, m, s); /s sssxk CALCULATION OF SIDEREAL TIME (rad) sssxskx/
return (str3); /% mjd: MID(UT), lo: LONGITUDE of TELESCOPE
} (rad DO+ 00-) x/
double getst(double mjd, double lo){
/#**xsxxx CONVERSION from DATE, TIME to MJD double st ;
(= JD — 2400000.5) sskxskkx/ long i;

double timetomjd(int year, int month, int day,
int hour, int min, int sec){

double mjd;

long i1, i2, i3, i4;

double al=0.671262;
double a2=1.002737909;

st = al 4+ a2x(mjd — 40000.0) + lo/6.283185307;

i = st;

ok sk ok ok ok [

slo: RA(rad) of the STAR x/

if (month <= 2) {year——; month+=12;} st = 6.283185307x(st — i);
il = 365.25*xyear; return (st );
i2 = year /400.0; }
i3 = year /100.0;
i4 = 30.59%(month—2.0); /®x%%xx CALCULATION OF HOUR ANGLE(rad)
mjd = il 4+ i2 — i3 4+ i4 + day — 678912; /* a: SIDEREAL TIME(rad),
mjd += (double)hour/24.0 + (double)min/1440.0 double getha(double a, double slo){
+ (double)sec /86400.0; double haj;
ha = a — slo;

return (mjd);

[x*kxxkxx 2000.00 0 0 00000000 OO skkkkx/ /#**x%x%+x CALCULATION OF ZENITH DISTANCE(rad)

double ey2000( double mjd ){ /* d:DEC(rad) of the STAR, phi:
double mjd2000; TELESCOPE(rad OO0+ 00 —),
mjd2000 = timetomjd( 2000, 1, 1, 0, 0, 0); ha: HOUR ANGLE of the star,
return( ( mjd — mjd2000 ) / 365.25 ); double getzd(double d, double phi,
double zd, h;

return (ha)

5

LATTITUDE of

h: HIGHT(rad) =/
double ha){

ok ok ok sk ok [

h = asin(sin(d)*sin(phi) + cos(d)*cos(phi)*cos(ha));
zd = 1.570796327 — h;
Jx*xxxx% tm0O00000O0MJDOOOOODODOOOOOO return (zd);
double getmjdtm(struct tm xtmptime){
double mjd;
if (tmptime—>tm_year > 70)

mjd = timetomjd ((1900 + tmptime—>tm_year), (1 /#**x% solar positionl (celestial longitude, degree) sx*x/
+tmptime—>tm_mon), tmptime—>tm_mday, tmptime—> double spls( double t) { // t: Julius year—jd2000
tm_hour, tmptime—>tm_min, tmptime—>tm_sec); double 1;
else 1 = 280.4603 + 360.00769 = t \
mjd = timetomjd ((2000 + tmptime—>tm_year), (1 + (1.9146 — 0.00005 = t) = sin( ( 357.538 4+ 359.991
+tmptime—>tm_mon), tmptime—>tm_mday, tmptime—> * t ) x ONEDEG)\
tm_hour, tmptime—>tm_min, tmptime—>tm_sec); + 0.0200 * sin( ( 355.05 + 719.981 x t ) = ONEDEG)\
return (mjd); + 0.0048 x sin( ( 234.95 + 19.341 % t ) *x ONEDEG)\
+ 0.0020 = sin( ( 247.1 -+ 329.640 % t ) % ONEDEG)\
+ 0.0018 * sin( ( 297.8 + 4452.67 % t ) x ONEDEG)\
/*x%%+% CONVERSION from MJD(= JD — 2400000.5)to DATE, + 0.0018 * sin( ( 251.3 + 0.20 =* t ) = ONEDEG))\
TIME sk / + 0.0015 = sin( ( 343.2 4+ 450.37 x t ) * ONEDEG)\
void mjdtotime (double mjd, int *year, int =month, + 0.0013 * sin( ( 81.4 4+ 225.18 x t ) * ONEDEG)\
int xday, int xhour, int *min, int =xsec){ + 0.0008 * sin( ( 132.5 + 659.29 = t ) = ONEDEG))\
+ 0.0007 = sin( ( 153.3 -+ 90.38 * t ) % ONEDEG)\
int i, n; + 0.0007 % sin( ( 206.8 + 30.35 * t ) = ONEDEG)\
int ymonth[]={0, 31, 28, 31, 30, 31, 30, 31, 31, 30, -+ 0.0006 % sin( ( 29.8 + 337.18 =« t ) * ONEDEG)\
31, 30, 31}; + 0.0005 * sin( ( 207.4 + 1.50 % t ) % ONEDEG)\
double submjd, subday; + 0.0005 * sin( ( 291.2 + 22.81 = t ) = ONEDEG)\
double spl, sp2; + 0.0004 * sin( ( 234.9 + 315.56 = t ) = ONEDEG)\
double al1=0.0027379093; + 0.0004 * sin( ( 157.3 + 299.30 * t ) = ONEDEG)\
+ 0.0004 * sin( ( 21.1 + 720.02 * t ) % ONEDEG)\
xyear = al % mjd + 1858.877; + 0.0003  sin( ( 352.5 -+ 1079.97 * t ) % ONEDEG)\
smonth = 1; + 0.0003 * sin( ( 329.7 + 44.43 % t ) x= ONEDEG);
xday = 0; while (1 >= 360)
submjd = timetomjd(*year, xmonth, xday, 0, 0, 0); 1 —= 360;
spl = mjd — submjd; while (1 < 0)
if ((xyear % 4) == 0) ymonth[2] = 29; 1 += 360;
if ((xyear % 100) == 0 && (xyear % 400) != 0) return( 1 );
ymonth [2]=28;
sp2 = 0;
for (i=1; i<=12; i++){ /*%% solar position2 (distance, AU) xxx/
n = spl; double spds( double t ) { // t: Julius year—jd2000
if ((n — sp2 — ymonth[i]) <= 0) break; double r;
sp2 4= ymonth[i]; r = (0.007256 — 0.0000002 * t) % sin( ( 267.54 + 359.991
* t) s ONEDEG )
smonth = i; + 0.000091 = sin( ( 265.1 + 719.98 x t) = ONEDEG )\
subday = spl — sp2; + 0.000030 = sin( ( 90.0 ) = ONEDEG )\
if (*xmonth >= 13) {*year += 1; smonth —= 12;} + 0.000013 * sin( ( 27.8 4+ 4452.67 x t ) = ONEDEG )\
if (subday < 1) {*year —= 1; smonth = 12; + 0.000007 = sin( ( 254 + 450.4 x t ) = ONEDEG )\
subday += 31;} + 0.000007 = sin( ( 156 + 329.6 x t ) x ONEDEG );
*day = subday; r = pow( 10.0, r );
subday —= =xday; return( r );
subday x= 24.0;
*hour = subday;
subday —= xhour; /*%% solar position3 (declination, degree) sxx/
subday %= 60.0; double spal( double t ) { // t: Julius year—jd2000
*min = subday; double Is, ep, al;
subday —= *min; Is = spls( t );
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ep = 23.439291 — 0.000130042 x t; if (st > 0.) dr = —90. ;
al = atan( tan( ls % ONEDEG ) * cos( ep =* if (st == 0) dr = 9999. ;
ONEDEG ) ) / ONEDEG; if (st < 0) dr = 90. ;
if( (1s > 0. ) && ( 1s < 180. ) ){
while (al < 0.) else {
al += 180.; dr = atan(dc / dm) / ONEDEG;
while (al >= 180.) if (dm <0.) dr += 180. ;
al —= 180.;
if (dr < 0.) dr += 360 ;
else{ return( dr );
while (al < 180.) }
al += 180.;
while (al >= 360.) double hho_sunrise_today ( void ){
al —= 180.;
} time_t t;
return( al ); struct tm x*tp;
// char buf[200];
double ut;
/*%x solar position4 (the right ascension, degree) int year, mo, da, ho, mi, se;
*ok [ // double al;
double spdl( double t ) { // t: Julius year—jd2000 int hh, m;
double ls, ep, dl; double tjd, th, ds, ls, alp, dlt, pht, ht, t4;
Is = spls( t ); double tsec_-today;
ep = 23.439291 — 0.000130042 * t;
dl = asin( sin( ls % ONEDEG ) x sin( ep * ONEDEG t = time (NULL);
) ) / ONEDEG; tp = localtime ( &t );

return( dl );

da = tp—>tm._mday;
/*%x Calculate sidereal hour (degree) x*x/ mo = tp—>tm_mon+1;
double sh( double t, int h, int m, int s, double 1, year = tp—>tm_year;
double i) { if ( year > 70 )
// t: julius year—jd2000, h: hour, m: minute, s: year += 1900;
second , else
// 1: longitude, i: time difference year += 2000;
double d, th; ho = tp—>tm_hour;
d=((s / 60. +m) / 60. + h) / 24. ; // elapsed mi = tp—>tm_min;
hour (from 0:00 a.m.) se = tp—>tm_sec;
th = 100.4606 + 360.007700536 =+ t 4+ 0.00000003879
* t ok t — 15. x i ; ut = timetomjd( year, mo, da, ho, mi, se ) —
th 4= 1 + 360 = d ; 0.375;
while (th >= 360.) tjd = ey2000( timetomjd( year, mo, da—1, 23,
th —= 360.; 59, H
while (th < 0.) th = sh(tjd ,23,59,0,longitude ,+9.) ;
th += 360.; ds = spds(tjd) ;
return( th ); Is = spls(tjd) ;
alp = spal(tjd) ;
dlt = spdl(tjd) ;
/**x Calculating the seeming horizon altitude pht = soal(lattitude ,th,alp,dlt) ;
?sa” (degree) x%xx/
double eandp( double alt, double ds) { // for ( hh=0; hh<24; hht+ ){
subfunction for altitude and parallax for ( m=0; m<60; m+ ){
double e, p; tjd = ey2000( timetomjd( year, mo, da, ho,
e = 0.035333333 * sqrt( alt ) ; mi, se ) );
p = 0.002442818 / ds ; th = sh(tjd ,hh,m,0,longitude ,+9.) ;
return( p — e ); ds = spds(tjd) ;
} Is = spls(tjd) ;
double sa( double alt, double ds) { // alt: alp = spal(tjd) ;
altitude (m), ds: solar distance (AU) dlt = spdl(tjd) ;
double s, r, k; ht = soal(lattitude ,th,alp,dlt) ;
s = 0.266994444 / ds ; t4 = sa(altitude ,ds) ;
r = 0.585555555 ;
k = eandp( alt, ds ) — s — r ; if( ( pht < t4 ) && (ht > t4 )
return( k ); // printf( ”,Sunrise,%02d:%02d”, hh, m );
tsec-today = hh % 3600. + m *x 60.;
/**x Calculating solar alititude (degree) *xx/ }
double soal( double la, double th, double al,
double dl) { pht = ht;
// la: latitude, th: sidereal hour, }
// al: solar declination, dl: right ascension
double h; return( tsec_today );
h = sin( dl = ONEDEG ) * sin( la x ONEDEG )\ }

+ cos( dl = ONEDEG ) x* cos( la *x ONEDEG) =
cos( (th — al) = ONEDEG ) ;
h = asin( h ) / ONEDEG; double hho_sunset_today ( void ){
return( h );

time_-t t;
/*%x Calculating solar direction (degree) sxx/ struct tm xtp;
double sodr( double la, double th, double al, // char buf[200];
double dl) { double ut;
// la: latitude , th: sidereal hour, int year, mo, da, ho, mi, se;
// al: solar declination, dl: right ascension // double al;
double t, dc, dm, st, dr; int hh, m;
t = th — al ; double tjd, th, ds, ls, alp, dlt, pht, ht, t4;
dc = — cos( dl = ONEDEG ) = sin( t * ONEDEG ); double tsec_today ;
dm = sin( dl *ONEDEG ) % sin( la % ONEDEG )\
— cos( dl *= ONEDEG ) * cos( la x ONEDEG ) =x t = time (NULL);
cos( t = ONEDEG ) ; tp = localtime ( &t );
if (dm == 0){
st = sin( t x ONEDEG ); da = tp—>tm_mday;
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mo = tp—>tm_mon+1;
year = tp—>tm_year;
if ( year > 70 )
year += 1900;
else
year 4= 2000;
ho = tp—>tm_hour;
mi = tp—>tm_min;
se = tp—>tm_sec;
ut = timetomjd( year, mo, da, ho, mi, se ) —
0.375;
tjd = ey2000( timetomjd( year, mo, da—1, 23,
59,0 ) );
th = sh(tjd ,23,59,0,longitude ,+9.)
ds = spds(tjd) ;
s = spls(tjd) ;
alp = spal(tjd) ;
dlt = spdl(tjd)
pht = soal(lattitude ,th,alp,dlt) ;
for ( hh=0; hh<24; hh++ ){
for ( m=0; m<60; m++ ){
tjd = ey2000( timetomjd( year, mo, da,
ho, mi, se ) );
th = sh(tjd ,hh,m,0,longitude ,+9.)
ds = spds(tjd) ;
ls = spls(tjd) ;
alp = spal(tjd) ;
dlt = spdl(tjd) ;
ht = soal(lattitude ,th,alp,dlt) ;
t4 = sa(altitude ,ds) ;
if ( ( pht > t4 ) && (ht < t4 )
// printf( ”,Sunset,%02d:%02d”, hh, m );
tsec_-today = hh % 3600. + m * 60.
}
pht = ht;
return( tsec_today );
/*
tjd = ey2000( timetomjd( year, mo, da—1, 23,
59,0 ) );
th = sh(tjd ,23,59,0,longitude ,+9.)
ds = spds(tjd) ;
s = spls(tjd) ;
alp = spal(tjd) ;
dlt = spdl(tjd)
pht = soal(lattitude ,th,alp,dlt) ;
pdr = sodr(lattitude ,th,alp,dlt) ;
for ( hh=0; hh<24; hht+ ){
for ( m=0; m<60; mi+ ){
tjd = ey2000( timetomjd( year, mo, da,
ho, mi, se )
th = sh(tjd ,hh,m,0,longitude ,+9.)
ds = spds(tjd) ;
Is = spls(tjd) ;
alp = spal(tjd) ;
dlt = spdl(tjd) ;
ht = soal(lattitude ,th,alp,dlt) ;
dr = sodr(lattitude ,th,alp,dlt) ;
tt = eandp(altitude ,ds)
t1 = tt — 18. ;
t2 = tt — 12.
t3 = tt — 6. ;
t4 = sa(altitude ,ds) ;
if( ( pht < t1 ) && (ht > t1 ) )
printf( 7, Twighlight_start ,%02d:%02d” ,
hh, m );
if( ( pht < t4 ) && (ht > t4 ) )
printf( ”,Sunrise,%02d:%02d”, hh, m );
if (( pdr < 180. ) && (dr > 180. )
printf( ”,Culmination,%02d:%02d”, hh,
m )
if( ( pht > t4 ) && (ht < t4 ) )
printf( ”,Sunset,%02d:%02d”, hh, m );
if(( pht > t1 ) && (ht < t1 ) )
printf( ”,Twighlight_end ,%02d:%02d” ,
hh, m );
pht = ht;
pdr = dr;
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int main(void)

time_-t timer;
struct tm *t_st;

int

h , min , sec;

double a ,b ;

int

char
char
char
char
char
char
char
char
char
char
char
char
char
char
char
char
char
char
char
char
char
char
char
char
char
char
char

now ,
cmdl [
cmd?2 [

cmd3[100];

cmd4[100];
cmd5[100];
cmd6[1000];
cmd7[1000];
cmd8[1000];
cmd9[1000];

cmd10
cmd11
cmd12
cmd13
cmd14
cmd15
cmd16
cmdl7
cmdl8
namel
name2

1000];
1000];
1000];
1000];
1000];
1000];
1
1
1

name3
name4
named
name6
name7
names8
name9

int smok;
int smo;

/*0 0%/

sprintf( wh

/* F—number

shutterspeed
.c ODOO

1SO
*/

iso

, 7auto” ); /+«whitebalancex/
fnumber.c 0O 0O O

shutterspeed.c 0O O O

/+*0 0 0 0 0=%/
time(&timer );

printf( "0 00 0O O O0%s\n” ctime(&timer));
t_-st = localtime(&timer);

h = t_st —>tm_hour;

min = t_st—>tm_min;

sec = t_st—>tm_sec;

now = h*x60x60+min*x60+sec ;

printf( "%d\n”

, now );

/*sunrise & sunset
printf (
sec\n”,\

*/

”Today Sunrise:

hho_sunrise_today (),

%5.0f sec

Sunset :

hho_sunset_today ()

%5.0f

a = hho_sunrise_today ();
b = hho_sunset_today ();
printf( "%f,%f\n” , a , b );

/*shutterseed x/

sh = shutterspeed( a , b ,now );
/*f—numberx*/
f = fnumber( a , b , now );

/*ISOx/

)3



is = sensitivity( a , b , now );

/+0 0%/
sprintf( namel, ”%04d%02d%02d%02d%02d%02d”
t_st —>tm_year+1900,t_st —>tm_mon+1,t_st —>tm_mday,
t_-st —>tm_hour, t_st —>tm_min, t_st —>tm_sec);

sprintf( name2, ”%04d” ,t_st—>tm_year+1900 );

sprintf( name3, ”%04d%02d” t-st —>tm_year+1900,
t-_st —>tm_mon+1 );

sprintf( name4,”%04d%02d%02d” ,t_st —>tm_year+1900,

t_st —>tm_mon+1,t_st —>tm_mday );

sprintf( name5, ”%04d/%02d/%02d %02d:%02d:%02d” ,
t_st —>tm_year+1900,t_st —>tm_mon+1,t_st —>tm_mday,
t_st —>tm_hour, t_st —>tm_min, t_st —>tm_sec );

sprintf( name6, ”%02d%02d”, t_st-—>tm_hour,t_st—>
tm_min );

sprintf( name7, ”%04d%02d%02d%02d%02d” tost —>
tm_year+41900,t_st —>tm_mon+1,t_st —>tm_mday, t_st —>
tm_hour , t_st —>tm_min ) ;

/+*0 000 0=/

sprintf( cmd3 ,”/usr/local/bin/gphoto2 ——quiet
——capture—image—and—download ——filename
/iraf/iraf/local/skymon/photoprogrum2/
current_master.jpg\n” );

system ( cmd3 );

/*0 0 0 00=x/

sprintf( cmdl7 ”/usr/bin/convert —border
800x800 —bordercolor black /iraf/iraf/local/
skymon/photoprogrum2/current_master.jpg
/iraf/iraf/local /skymon/photoprogrum?2/
current_border.jpg” );

system ( cmdl7 );

/+*0 000 0=/

sprintf( cmd5 ”/usr/bin/convert —rotate
/iraf/iraf/local/skymon/photoprogrum2/
current_border.jpg /iraf/iraf/local/skymon
/photoprogrum2/current_rotate.jpg\n” );

system ( cmd5 );
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/=0 0 0 0=x/

sprintf( cmd4 , ”/usr/bin/convert —crop
2200x22004237042190 /iraf/iraf/local/skymon
/photoprogrum?2/current_rotate.jpg /iraf/iraf
/local /skymon/photoprogrum2/current_crop.jpg
\n” )3

system ( cmd4 );

/+0 00 0000=x/

/+*Higashi—Hiroshima Observatoryx/

sprintf( cmdl0 ”/usr/bin/convert —font
helvetica —fill white —pointsize 48 —draw
text 20,2120 \”Higashi—Hiroshima Observatory\”’
/iraf/iraf/local /skymon/photoprogrum2/
current_crop.jpg /iraf/iraf/local/skymon
/photoprogrum?2/current_-font.jpg” );

system ( c¢cmdl0 );

/*Hiroshima University Date/Timex/

sprintf( cmdll ”/usr/bin/convert —font
helvetica —fill white —pointsize 48 —draw
text 20,2170 \” Hiroshima University Date/Time
%s\”’ Jiraf/iraf/local/skymon/photoprogrum?2
/current_font.jpg /iraf/iraf/local/skymon/
photoprogrum?2/current_font.jpg” ,name5 );

system ( cmdll );

/* N =/

sprintf( cmd7 ?/usr/bin/convert —font
helvetica —fill white —pointsize 56 —draw
text 1060,60 N’ /iraf/iraf/local/skymon/

photoprogrum2/current_font.jpg /iraf/iraf
/local /skymon/photoprogrum2/current_font.jpg
\n” );

system ( cmd7 );

/x B x/
sprintf( cmd7 ”/usr/bin/convert —font
helvetica —fill white —pointsize 56 —draw
‘text 30,1080 E’ /iraf/iraf/local/skymon/

photoprogrum2/current_font.jpg /iraf/iraf

20

/local /skymon/photoprogrum2/current_font.jpg
\n” );
system ( cmd7 );

/*F—number*/

sprintf( cmdl2 ”/usr/bin/convert —font
helvetica —fill white —pointsize 40 —draw
‘text 1800,2050 \”F—number %s\”' Jiraf/iraf
/local /skymon/photoprogrum2/current_font.jpg
/iraf/iraf/local /skymon/photoprogrum2/
current_font.jpg” , fn );

system ( cmdl2 );

/*Exposurex/

sprintf( cmdl3 ”/usr/bin/convert —font
helvetica —fill white —pointsize 40 —draw
‘text 1802,2090 \” Exposure %s\”’ Jiraf/iraf
/local /skymon/photoprogrum2/current_font.jpg
/iraf/iraf/local /skymon/photoprogrum?2/
current_font.jpg” , sp );

system ( cmdl13 );

/*ISOx/

sprintf( cmdl4 ?/usr/bin/convert —font
helvetica —fill white —pointsize 40 —draw
‘text 1715,2130 \”ISO—sensitivity Pos \”

/iraf/iraf/local /skymon/photoprogrum2/

current_font.jpg /iraf/iraf/local/skymon

/photoprogrum?2/current_font.jpg” , iso );
system ( cmdl4 );

/*whitebalancex*/

sprintf( cmdl6 ?/usr/bin/convert —font
helvetica —fill white —pointsize 40 —draw
‘text 1739,2170 \” whitebalance Yos \”
/iraf/iraf/local /skymon/photoprogrum2/
current_font.jpg /iraf/iraf/local/skymon
/photoprogrum?2/current_completed . jpg”

system ( cmdl6 );

wh );

/*0 000000000 000O0O0=x/
sprintf( cmd8 , "cp —p /iraf/iraf/local
/skymon/photoprogrum2/current_completed.jpg
/iraf/iraf/local/skymon/%s/%s/%s/%s .jpg\n”
, name2 , name3 , name4 , namel );

system ( cmd8 );

/0 00 0%/

sprintf( cmd9 ”/usr/bin/convert —geometry
600x600 /iraf/iraf/local/skymon/photoprogrum?2
/current_completed.jpg /iraf/iraf/local/skymon
/photoprogrum?2/current_srk.jpg” );

system ( cmd9 );

/xscpx/
sprintf( cmdlb
system ( cmdl5 );

”»/iraf/iraf/local/scpwebserver.sh”

/*smokal 000 %/
if ( strcmp( name6

sprintf( cmdl8 |,
, named );

71130” )

smok = atoi( name6 );
smo = smok%10;

if ( smo == 0 ){

timer —= ( 86400/2 );
t_st = localtime(&timer);

7 %04d%02d%02d”
t_st —>tm_mday );

sprintf( name9 ,
t-st —>tm_mon-+1 ,

sprintf( cmdl ?cp —p /iraf/iraf/local/skymon
/photoprogrum?2/current_completed.jpg /iraf/iraf/

local /skymon/sm/sm%s/%s . jpg” , name9 , name7 );
system ( cmdl );

}

return O0;

,tost —>tm_year+1900

)5

o
?mkdir /iraf/iraf/local/skymon/sm/sm%s”

)
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#include <stdio.h>
#include <math.h>
#include <stdlib .h>

char sp;
int shutterspeed( int a , int b , int x )

double d,n,o;

double c,rad,e;

double y;

int p,q,u,r,sh,bef, aft;
double k,1;

char j[30];

char cmdl1[100];

/=0 0%/
/*000000(000bef0000aftdD )x/
bef = 50;

0000(k/10000000 %/
1.0:
80
7
/x*0 0 0 0=/
/«*0 000 00=x/

char m[30] = 715.07; /+0 O =%/
q = 48; /+*0 0 0 0x/

/*00000000000D0O00x/

/* 0:1/4000 18:1/60 36:1.0
1:1/3200 19:1/50 37:1.3
2:1/2500 20:1/40 38:1.6
3:1/2000 21:1/30 39:2.0
4:1/1600 22:1/25 40:2.5
5:1/1250 23:1/20 41:3.0
6:1/1000 24:1/15 42:4.0
7:1/800 25:1/13 43:5.0
8:1/640 26:1/10 44:6.0
9:1/500 27:1/8 45:8.0
10:1/400 28:1/6 46:10.0
11:1/320 29:1/5 47:13.0
12:1/250 30:1/4 48:15.0
13:1/200 31:1/3 49:20.0
14:1/160 32:1/2.5 50:25.0
15:1/125 33:1/2 51:30.0
16:1/100 34:1/1.6 52:429496.7295
17:1/80 35:1/1.3 */
u k;

I

r
sprintf( j "%d/%d” , u o, r );

if (0<=x && x < —(bef+4+10)%60+a ){
sh = q;

sprintf( &sp , "%ss”
return sh;

, mo);

else if ( —(bef+10)*x60+a <= x && x <
—bef*60+a ){

sh = q;

sprintf( &sp , "%ss” , m );

sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet —set—config=shutterspeed=%d” sh );

system ( cmdl );
return sh;

else

sh = p;

sprintf( &sp "%ss” L );

sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet —set—config=shutterspeed=%d” sh );

system ( cmdl );

if ( aftx604+a < x && x <= (aft+10)*x60+a ){

return sh;

else if ( (aft+410)*x60+a < x && x <
—(aft+10)*60+b ){
sh = p;

sprintf( &sp "%ss” ,§ );
return sh;
}
else if ( —(aft+10)*x60+b <= x && x < —aft*60+b ){
sh = p;
sprintf( &sp , "%ss” , j );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” sh );
system ( cmdl );
return sh;
}
else if ( befx60+b < x && x <= (bef+10)*x60+b ){
sh = q;
sprintf( &sp , "%ss” , m

3
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );
system ( cmdl );
return sh;

¥
else if ( (bef+10)*60+b < x && x <= 86400 ){
sh = q;
sprintf( &sp , "%ss” , m );
return sh;
}
else if ( —bef*x60+a <= x && x <= aft*60+a ){
n =k/1;
o = atof(m);

c=(logl0(0)—logl0O(n))/2;
e=(logl0(o0)+1logl0O(n))/2;
d=(x—a) /60;
rad=(d+(bef—aft)/2)«M_PI/(beftaft);
y=—cx*sin (rad)+te;

if ( logl0(30) <=y ){

sh = 51;
sprintf( &sp ”730s” )
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet —set—config=shutterspeed=%d” sh );
system ( cmdl );
return sh;
}
else if ( logl0(25) <=y && y < logl0(30) ){
sh = 50;
sprintf( &sp ”725s8” )
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
——set—config=shutterspeed=%d” sh );
system ( cmdl );
return sh;
}
else if ( logl0(20) <=y && y < logl0(25) ){
sh = 49;
sprintf( &sp ”720s” )
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

}
else if ( logl0(15) <=y && y < logl0(20) ){
sh = 48;
sprintf( &sp ”15s8” )3
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
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} sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet

——set—config=shutterspeed=%d” , sh );
else if ( 1logl0(13) <=y && y < logl0(15) ){ system ( cmdl );
sh = 47; return sh;
sprintf( &sp , 713s” ); } '
return sh;
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet else if ( logl0(1.3) <=y && y < logl0(1.6) ){
——set—config=shutterspeed=%d” , sh ); sh = 37;
system ( cmdl ); sprintf( &sp , 71.3s” );
return sh; sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
——set—config=shutterspeed=%d” , sh );
) system ( cmdl );
else if ( logl0(10) <=y && y < logl0(13) ){ return sh;
sh = 46; }
sprintf( &sp , 710s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet else if ( loglO(l) <=y && y < logl10(1.3) ){
——set—config=shutterspeed=%d” , sh ); sh = 36;
system ( cmdl ); sprintf( &sp ,”1s” );
return sh; sprintf( ecmdl , ”/usr/local/bin/gphoto2 ——quiet
} ——set—config=shutterspeed=%d” , sh );
system ( cmdl );
else if ( logl0(8) <=y && y < logl0(10) ){ return sh;
sh = 45; }
sprintf( &sp , "8s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet else if ( logl0(1.0/1.3) <=y && y < logl0(1) ){
——set—config=shutterspeed=%d” , sh ); sh = 35;
system ( cmdl ); sprintf( &sp , ”1/1.3s” );
return sh; sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
——set—config=shutterspeed=%d” , sh );
} system ( cmdl }2;
return sh;
elsE if4£l logl0(6) <= y && y < logl0(8) ){ }
sh = ;
) sprintf ( Kyzsp , 76s” );A ) else if ( logl0(1.0/1.6) <=y && y <
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet logl0(1.0/1.3) ){
——set—config=shutterspeed=%d” , sh ); sh = 34;
system ( cmdl ); sprintf( &sp , "1/1.6s” );
return sh; sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
——set—config=shutterspeed=%d” , sh );
} system ( cmdl );
return sh;
els;e if4g logl0(5) <=y && y < logl0(6) ){ }
sh = ;
) sprintf ( {Lsp , ”5s” );' ) else if ( 1logl0(1.0/2.0) <=y & y <
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet log10(1.0/1.6) ){
——set—config=shutterspeed=%d” , sh ); sh = 33;
system ( cmdl ); sprintf( &sp , 71/2s” );
return sh; sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
——set—config=shutterspeed=%d” , sh );
) system ( cmdl );
else if ( logl0(4) <=y && y < logl0(5) ){ return sh;
sh = 42; }
sprintf( &sp , 74s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet else if ( 1o0gl0(1.0/2.5) <=y & y <
——set—config=shutterspeed=%d” , sh ); log10(1.0/2.0) ){
system ( cmdl ); sh = 32;
return sh; sprintf( &sp , 71/2.5s8” );
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
——set—config=shutterspeed=%d” , sh );
elsE if (1logl0(3) <=y && y < logl0(4) ){ system ( cmdl );
sh = 41; return sh;
sprintf( &sp , ”3s” ); }
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
——set—config=shutterspeed=%d” , sh ); else if ( logl0(1.0/3.0) <=y && y <
system ( cmdl ); log10(1.0/2.5) ){
return sh; sh = 31;
} sprintf( &sp , 71/3s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
else if ( logl0(2.5) <=y && y < logl10(3) ){ ——set—config=shutterspeed=%d” , sh );
sh = 40; system ( cmdl );
sprintf( &sp , 72.5s” ); return sh;
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet }
——set—config=shutterspeed=%d” , sh );
system ( cmdl ); else if ( 1ogl0(1.0/4.0) <=y & y <
return sh; log10(1.0/3.0) ){
} sh = 30;
sprintf( &sp , "1/4s” );
else if ( logl0(2) <=y && y < logl0(2.5) ){ sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
sh = 39; ——set—config=shutterspeed=%d” , sh );
sprintf( &sp , 72s” ); system ( cmdl );
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet return sh;
7fset7Co(nfigjihl)ltterspeed:%d” , sh ); }
system ( cm H
return sh; else if ( logl0(1.0/5.0) <=y && y <
1 10g10 (1.0/4.0) ){
sh = 29;
else if ( logl0(1.6) <=y && y < logl0(2) ){ sprintf( &sp , 71/5s” );
sh = 38; sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
sprintf( &sp , "1.6s” ); ——set—config=shutterspeed=%d” , sh );
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system ( cmdl );
return sh;

}

else if ( 10gl0(1.0/6.0) <=y & y <
log10(1.0/5.0) ){

sh = 28;
sprintf( &sp , 71/6s” );
sprintf( ecmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

else if ( logl0(1.0/8.0) <=y & y <
log10(1.0/6.0) ){

sh = 27;
sprintf( &sp , 71/8s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

else if ( logl0(1.0/10.0) <=y && y <
log10 (1.0/8.0) ){

sh = 26;

sprintf( &sp , 71/10s” );

sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

else if ( 1logl0(1.0/13.0) <=y & y <
log10(1.0/10.0) ){

sh = 25;
sprintf( &sp , 71/13s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

else if ( logl0(1.0/15.0) <=y && y <
log10(1.0/13.0) ){

sh = 24;
sprintf( &sp ,”1/15s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

}

else if ( 10gl0(1.0/20.0) <=y & y <
log10(1.0/15.0) ){

sh = 23;
sprintf( &sp , 71/20s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
}

else if ( 1logl0(1.0/25.0) <=y && y <
log10(1.0/20.0) ){

sh = 22;
sprintf( &sp , 71/25s8” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

}

else if ( 1ogl0(1.0/30.0) <=y & y <
log10(1.0/25.0) ){

sh = 21;
sprintf( &sp , 71/30s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

else if ( 1ogl0(1.0/40.0) <=y & y <
log10(1.0/30.0) ){

sh = 20;
sprintf( &sp , 71/40s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2

——quiet ——set—config=shutterspeed=%d” , sh );
system ( cmdl );
return sh;
¥

else if ( logl0(1.0/50.0) <=y & y <
log10(1.0/40.0) ){
sh = 19;
sprintf( &sp , 71/50s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );
system ( cmdl );
return sh;
¥

else if ( logl0(1.0/60.0) <=y & y <
log10(1.0/50.0) ){

sh = 18;
sprintf( &sp , 71/60s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
}

else if ( logl0(1.0/80.0) <=y && y <
log10(1.0/60.0) ){

sh = 17;
sprintf( &sp , 71/80s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
¥

else if ( logl0(1.0/100.0) <=y & y <
log10(1.0/80.0) ){

sh = 16;
sprintf( &sp , 71/100s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
}

else if ( logl0(1.0/125.0) <=y & y <
log10(1.0/100.0) ){

sh = 15;
sprintf( &sp , 71/125s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
}

else if ( logl0(1.0/160.0) <=y & y <
log10(1.0/125.0) ){

sh = 14;
sprintf( &sp , 71/160s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
¥

else if ( logl0(1.0/200.0) <=y & y <
log10(1.0/160.0) ){

sh = 13;
sprintf( &sp , 71/200s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
}

else if ( 1logl0(1.0/250.0) <=y && y <
log10(1.0/200.0) ){

sh = 12;
sprintf( &sp , 71/250s8” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
¥

else if ( logl0(1.0/320.0) <=y && y <
log10(1.0/250.0) ){
sh = 11;
sprintf( &sp , 71/320s” );
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sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );
system ( cmdl );
return sh;

}

else if ( 1logl0(1.0/400.0) <=y & y <
log10(1.0/320.0) ){
sh = 10;

sprintf( &sp ”71/400s” );
sprintf( cmdl ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

}

else if ( logl0(1.0/500.0) <=y & y <
log10(1.0/400.0) ){
sh = 9;
sprlntf( &sp , 71/500s” );
sprintf( cmdl ”/usr/local /bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );
system ( cmdl );
return sh;
}

else if ( 1logl0(1.0/640.0) <=y && y <
10g10(1.0/500.0) ){
sh = 8;

sprlntf( &sp ”71/640s” );
sprintf( cmdl ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

else if ( logl0(1.0/800.0) <=y & y <
1og10(1.0/640.0) ){
sh = 7;

sprintf( &sp ”71/800s” );
sprintf( cmdl ?/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

else if ( logl0(1.0/1000.0) <=y & y <
10810 (1.0/800.0) ){
sh = 6;

sprintf( &sp ”71/1600s” );
sprintf( cmdl ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

}

else if ( 1ogl0(1.0/1250.0) <=y & y <
1og10(1.0/1000.0) ){
sh = 5;

sprintf( &sp ”71/1250s” );
sprintf( ecmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
}

else if ( logl0(1.0/1600.0) <=y & y <
log10(1.0/1250.0) ){

sh = 4;

sprlntf( &sp ”71/1600s” );

sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

}

else if ( logl0(1.0/2000.0) <=y & y <
log10(1.0/1600) ){
sh = 3;

sprintf( &sp ”1/2000s” );
sprintf( cmdl ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

}

else if ( logl0(1.0/2500.0) <=y & y <
log10(1.0/2000.0) ){
sh = 2;

sprintf( &sp ”71/2500s” );

sprintf( cmdl ”/usr/local /bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );

return sh;

else if ( logl0(1.0/3200.0) <=y && y <
log10(1.0/2500.0) ){
sh = 1;

sprintf( &sp ”1/3200s” );
sprintf( cmdl ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

return sh;

else if ( —aft*60+b <= x && x <= bef*60+b ){

n
o

k/1;
atof (m);

c=(logl0(0)—1logl0O(n))/2;
e=(logl0(o)+loglO(n))/2;
d=(x—b)/60;
rad=(d+(aft —bef)/2)«M_PI/(beftaft);
y=cxsin (rad)+e;

if ( logl0(30) <=y ){

sh = 51;

sprintf( &sp , 730s” );

sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

¥
else if ( logl0(25) <=y && y < logl0(30) ){
sh = 50;
sprintf ( &sp , 72587 )
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
——set—config=shutterspeed=%d” , sh );
system ( cmdl );
return sh;
¥
else if ( 1ogl0(20) <=y && y < logl0(25) ){
sh = 49;
sprintf( &sp , 720s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

}
else if ( logl0(15) <=y && y < logl0(20) ){
sh = 48;
sprlntf( &sp , "15s” );
sprintf( cmdl ”/usr/local/bin/gphoto2 ——quiet
——set—config=shutterspeed=%d” , sh );
system ( cmdl );
return sh;
}
else if ( logl0(13) <=y && y < logl0(15) ){
sh = 47;
sprintf( &sp , "13s” );

return sh;
sprintf( cmdl ”/usr/local/bin/gphoto2 ——quiet
——set—config=shutterspeed=%d” , 47 );
system ( cmdl );
return sh;

¥

else if ( logl0(10) <=y & & y < logl0(13) ){
sh = 46;
sprlntf( &sp , 710s”

)
sprintf( cmdl ?/usr/local/bin/gphoto2 ——quiet
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——set—config=shutterspeed=%d” , sh ); sh = 36;

system ( cmdl ); sprintf( &sp ,71s” );
return sh; sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
} ——set—config=shutterspeed=%d” , sh );
system ( cmdl );
else if ( logl0(8) <=y && y < logl0(10) ){ return sh;
sh = 45; }
sprintf( &sp , "8s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet else if ( logl0(1.0/1.3) <=y && y < logl0(1) ){
——set—config=shutterspeed=%d” , sh ); sh = 35;
system ( cmdl ); sprintf( &sp , ”1/1.3s” );
return sh; sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
——set—config=shutterspeed=%d” , sh );
} system ( cmdl );
return sh;
else if ( logl0(6) <=y && y < logl0(8) ){ }
sh = 44;
sprintf( &sp , 76s” ); else if ( logl0(1.0/1.6) <=y && y <
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet logl0(1.0/1.3) ){
——set—config=shutterspeed=%d” , sh ); sh = 34;
system ( cmdl ); sprintf( &sp , "1/1.6s” );
return sh; sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
——set—config=shutterspeed=%d” , sh );
} system ( cmdl );
return sh;
else if ( logl0(5) <=y && y < logl0(6) ){ }
sh = 43;
sprintf( &sp , "5s” ); else if ( logl0(1.0/2.0) <=y & y <
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet log10(1.0/1.6) ){
——set—config=shutterspeed=%d” , sh ); sh = 33;
system ( cmdl ); sprintf( &sp , 71/2s” );
return sh; sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
——set—config=shutterspeed=%d” , sh );
system ( cmdl );
else if ( logl0(4) <=y && y < logl0(5) ){ return sh;
sh = 42; }
sprintf( &sp , 74s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet else if ( 1ogl0(1.0/2.5) <=y & y <
——set—config=shutterspeed=%d” , sh ); log10(1.0/2.0) ){
system ( cmdl ); sh = 32;
return sh; sprintf( &sp , 71/2.5s8” );
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
——set—config=shutterspeed=%d” , sh );
else if ( logl0(3) <=y && y < logl0(4) ){ system ( cmdl );
sh = 41; return sh;
sprintf( &sp , "3s” ); }
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
——set—config=shutterspeed=%d” , sh ); else if ( logl0(1.0/3.0) <=y & y <
system ( cmdl ); log10(1.0/2.5) ){
return sh; sh = 31;
} sprintf( &sp , "1/3s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
else if ( logl0(2.5) <=y && y < logl0(3) ){ ——quiet ——set—config=shutterspeed=%d” , sh );
sh = 40; system ( cmdl );
sprintf( &sp , 72.5s” ); return sh;
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet }
——set—config=shutterspeed=%d” , sh );
system ( cmdl ); else if ( 1logl0(1.0/4.0) <=y & y <
return sh; log10(1.0/3.0) ){
} sh = 30;
sprintf( &sp , "1/4s” );
else if ( logl0(2) <=y && y < logl0(2.5) ){ sprintf( cmdl , ”/usr/local/bin/gphoto2
sh = 39; ——quiet ——set—config=shutterspeed=%d” , sh );
sprintf( &sp , 72s” ); system ( cmdl );
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet return sh;
——set—config=shutterspeed=%d” , sh ); }
system ( cmdl );
return sh; else if ( logl0(1.0/5.0) <=y && y <
1 10g10 (1.0/4.0) ){
sh = 29;
else if ( logl0(1.6) <=y && y < logl0(2) ){ sprintf( &sp , 71/5s” );
sh = 38; sprintf( cmdl , ”/usr/local/bin/gphoto2
sprintf( &sp , "1.6s” ); ——quiet ——set—config=shutterspeed=%d” , sh );
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet system ( cmdl );
——set—config=shutterspeed=%d” , sh ); return sh;
system ( cmdl ); }
return sh;
} else if ( logl0(1.0/6.0) <=y && y <
log10(1.0/5.0) ){
else if ( logl0(1.3) <=y && y < logl0(1.6) ){ sh = 28;
sh = 37; sprintf( &sp , 71/6s” );
sprintf( &sp , 71.3s” ); sprintf( cmdl , ”/usr/local/bin/gphoto2
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet ——quiet ——set—config=shutterspeed=%d” , sh );
——set—config=shutterspeed=%d” , sh ); system ( cmdl );
system ( cmdl ); return sh;
return sh; }
}

else if ( 1ogl0(1.0/8.0) <=y & y <
else if ( loglO(l) <=y && y < logl10(1.3) ){ log10(1.0/6.0) ){
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sh = 27;
sprintf( &sp , 71/8s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

else if ( 1logl0(1.0/10.0) <=y & y <
log10(1.0/8.0) ){

sh = 26;

sprintf( &sp , 71/10s” );

sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

else if ( logl0(1.0/13.0) <=y & y <
log10(1.0/10.0) ){

sh = 25;
sprintf( &sp , 71/13s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

else if ( logl0(1.0/15.0) <=y && y <
log10(1.0/13.0) ){

sh = 24;
sprintf( &sp ,”1/15s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

}

else if ( 10gl0(1.0/20.0) <=y & y <
log10(1.0/15.0) ){

sh = 23;
sprintf( &sp , 71/20s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
}

else if ( logl0(1.0/25.0) <=y && y <
log10(1.0/20.0) ){

sh = 22;
sprintf( &sp , 71/25s8” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

}

else if ( 1logl0(1.0/30.0) <=y && y <
log10(1.0/25.0) ){

sh = 21;
sprintf( &sp , 71/30s” );
sprintf( ecmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

else if ( 1ogl0(1.0/40.0) <=y & y <
log10(1.0/30.0) ){

sh = 20;
sprintf( &sp , 71/40s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

else if ( 1logl0(1.0/50.0) <=y & y <
log10(1.0/40.0) ){
sh =

= 19;
sprintf( &sp , 71/50s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

else if ( 10ogl0(1.0/60.0) <=y & y <

log10(1.0/50.0) ){

sh = 18;
sprintf( &sp , 71/60s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
¥

else if ( logl0(1.0/80.0) <=y & y <
log10(1.0/60.0) ){

sh = 17;
sprintf( &sp , 71/80s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
}

else if ( 1logl0(1.0/100.0) <=y & y <
log10(1.0/80.0) ){

sh = 16;
sprintf( &sp , 71/100s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
}

else if ( logl0(1.0/125.0) <=y & y <
log10(1.0/100.0) ){

sh = 15;
sprintf( &sp , 71/125s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
}

else if ( 1logl0(1.0/160.0) <=y & y <
log10(1.0/125.0) ){

sh = 14;
sprintf( &sp , 71/160s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
¥

else if ( logl0(1.0/200.0) <=y & y <
log10(1.0/160.0) ){

sh = 13;
sprintf( &sp , 71/200s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
}

else if ( logl0(1.0/250.0) <=y && y <
log10(1.0/200.0) ){

sh = 12;
sprintf( &sp , 71/250s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
¥

else if ( logl0(1.0/320.0) <=y && y <
log10(1.0/250.0) ){

sh = 11;
sprintf( &sp , 71/320s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
¥

else if ( logl0(1.0/400.0) <= y && y <
log10(1.0/320.0) ){

sh = 10;
sprintf( &sp , 71/400s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;
}
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else if ( logl0(1.0/500.0) <=y & y < }
log10(1.0/400.0) ){

sh = 9;
sprlntf( &sp , 71/500s” ); return sh;
sprintf( cmdl , ”/usr/local/bin/gphoto2 }
——quiet ——set—config=shutterspeed=%d” , sh );

system ( cmdl );
return sh;

}
else if ( 1logl0(1.0/640.0) <=y & y <
logl0 (1. 0/500 0) ){ return 0;
sh = 8;
sprlntf( &sp , 71/640s” );

sprintf( cmdl , ”/usr/local/bin/gphoto2

77;1;Sitcctmf(fs;tdzcg);nfig:shuttcrspccd: «d” , sh ); I:I I:l A.3 F I:l I:I |:| I:I D I:I D |:|

return sh;

}
#include <stdio.h>
else if ( logl0(1.0/800.0) <=y & y < #include <math.h>
log10(1.0/640.0) ){ #include <stdlib .h>
sh = 7; char fn[30];
sprintf( &sp , 71/800s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2 int fnumber( int a , int b ,int x )
——quiet ——set—config=shutterspeed=%d” , sh );
system ( cmdl );
return sh; int f;
double d,n,o;
double c,rad,e;
else if ( logl0(1.0/1000.0) <=y & y < double y;
log10(1.0/800.0) ){ int p,q,bef,aft;
sh = 6; char ¢cmd2[100];
sprlntf( &sp , 71/1600s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh ); /*0 0%/
system ( cmdl ); /0 0O FO =
return sh; /0 00 000(000bef00D00aft0 O )x/
} bef = 50;
aft = 60;
else if ( 1logl0(1.0/1250.0) <=y & y <
log10(1.0/1000.0) ){ char 1[30] = "8”; /«FO (£/0 0 0)x/
sh = 5; = 9; /x0 0 00=x%/
sprintf( &sp , 71/1250s” ); /0 0 FO %/
sprintf( cmdl , ”/usr/local/bin/gphoto2 char m[30] = 73.27; /«FO (f/0 0 O0)x/
——quiet ——set—config=shutterspeed=%d” , sh ); q=1; /«0 00 O=x/
system ( cmdl );
return sh; /*0 000000000 00O0O=x*/
} /x (0:£/2.8) 7:£/6.3 14:£/14
1:£/3.2 (8:£/7.1) 15:£/16
else if ( logl0(1.0/1600.0) <=y & y < 2:f/3.5 9:f/8 16:f/18
1og10(1.0/1250.0) ){ 3:f/4 10:£/9 17:£/20
sh = 4; 4:f/4.5 11:£/10 18:£/22
sprintf( &sp , 71/1600s” ); 5:f/5 12:f/11
sprintf( cmdl , ”/usr/local/bin/gphoto2 (6:f/5.6) 13:£/13 */
——quiet ——set—config=shutterspeed=%d” , sh );
system ( cmdl );
return sh;
} if (0 <= x && x < —(bef+10)x60+a ){
f=q;
else if ( logl0(1.0/2000.0) <=y & y < sprintf( fn , 7f/%s” , m );
log10(1.0/1600) ){ return f;
sh = 3;
sprintf( &sp , 71/2000s” ); }
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh ); else if ( —(bef+4+10)*x60+a <= x && x <= —bef*60+a ){
system ( cmdl ); f = q;
return sh; sprintf( fn , 7f/%s” , m );
} sprintf( cmd2 , ”/usr/local/bin/gphoto2 ——quiet
——set—config=f—number=%d” , f );
else if ( logl0(1.0/2500.0) <=y && y < system ( cmd2 );
log10(1.0/2000.0) ){ return f;
sh = 2;
sprlntf( &sp , 71/2500s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh ); else if ( aftx604+a <= x && x < (aft+10)x60+a ){
system ( cmdl ); f = p;
return sh; sprintf( fn , 7f/%s” , 1 );
} sprintf( emd2 , ”/usr/local/bin/gphoto2 ——quiet
——set—config=f—number=%d” , f );
system ( cmd2 );
else if ( logl0(1.0/3200.0) <=y & y < return f;
log10(1.0/2500.0) ){
sh = 1;
sprlntf( &sp , 71/3200s” );
sprintf( cmdl , ”/usr/local/bin/gphoto2
——quiet ——set—config=shutterspeed=%d” , sh ); else if ( (aft+10)*604+a < x && x < —(aft+10)*x60+b ){
system ( cmdl ); f = p;
return sh; sprintf( fn , 7f/%s” , 1 );
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return f;

}

else if ( —(aft+10)*x60+b <= x && x <= —aft*60+b ){
f = p;
sprintf( fn PE/%s” 1),
sprintf( cmd2 ?/usr/local/bin/gphoto2 ——quiet

——set—config=f—number=%d” , f );
system ( cmd2 );
return f;

else if ( bef*x60+b <= x && x <= (bef+5)*x60+b ){
f = q;
sprintf( fn
sprintf( cmd2
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;

v £/ %s”

, mo);

else if ( (bef+4+5)*60+b < x && x <= 86400 ){
f = q;
sprintf( fn
return f;

TE/%s” L m )

else if ( —befx60+a <= x && x <= aft*60+a ){

n
o

atof(1);
atof (m);

c=(18/0—-18/n)/2;

e=(18/n+18/0)/2;

d=(x—a)/60;
rad=(d+(bef—aft)/2)«M_PI/(beftaft);
y=—cx*sin (rad)+e;

if (18/2.8 <=y ){

f = 0;
sprlntf( fn 7f/2.87 );
sprintf( cmd2 , ”/usr/local/bin/gphoto2 ——quiet
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;
}
else if (18/3.2 <=y && y < 18/2.8 ){
f = 1;
sprintf( fn 7f£/3.27 )3
sprintf( cmd2 , ”/usr/local/bin/gphoto2 ——quiet
——set—config=f—number=%d” , f );

system ( cmd2 );
return f;

else if ( 18/3.5 <=y && y <18/3.2 ){
f = 2;
sprintf( fn »£/3.57 )3
sprintf( cmd2 ”/usr/local/bin/gphoto2 ——quiet
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;

}

else if ( 18/4 <=y && y <18/3.5 ){
f = 35
sprintf( fn Tf/4” )
sprintf( cmd2 ?/usr/local /bin/gphoto2 ——quiet
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;

else if ( 18/4.5 <= y && y <18/4 ){
f = 4;
sprintf( fn 7f/4.5” );
sprintf( cmd2 ”/usr/local/bin/gphoto2 ——quiet
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;

”/usr/local/bin/gphoto2 ——quiet

}

else if ( 18/5 <=y && y <18/4.5 ){
f = 5;
sprintf( fn 7£/5” ),
sprintf( cmd2 ?/usr/local/bin/gphoto2 ——quiet
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;
¥

/* else if ( 18/5.6 <=y && y <18/5 ){
f = 6;
sprintf( fn 7£/5.6” );
sprintf( cmd2 ”/usr/local/bln/gphotoQ ——quiet
——set —config=f—number=% , £ )5
system ( cmd2 );
return f;
}

else if ( 18/6.3 <=y && y <18/5 ){
f =7
sprintf( fn , 7f/6.37 );
sprintf( cmd2 ?/usr/local/bin/gphoto2 ——quiet
——set —config=f—number=%d” , f );
system ( cmd2 );
return f;

}

*/

/*
else if ( 18/7.1 <= y && y <18/6.3 ){
f = 8;
sprintf( fn PE/7T.17 )
sprintf( cmd2 ”/usr/local/bin/gphoto2 ——quiet
——set —config=f—number=%d” , f );
system ( cmd2 );
return f;
¥
*/

else if ( 18/8 <= y && y <18/6.3 ){
f = 9;
sprintf( fn 7£/8” )
sprintf( cmd2 ?/usr/local/bin/gphoto2 ——quiet
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;

}

else if ( 18/9 <=y && y <18/8 ){
f = 10;
sprintf( fn , 7f/9” );
sprintf( cmd2 , ”/usr/local/bin/gphoto2 ——quiet
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;

}

else if ( 18/10 <=y && y <18/9 ){
f = 11;
sprintf( fn ?£/107 )5
sprintf( cmd2 ?/usr/local/bin/gphoto2 ——quiet
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;

¥
else if ( 18/11 <=y && y <18/10 ){
f = 12;
sprintf( fn »f/117 )5
sprintf( cmd2 , ”/usr/local/bin/gphoto2 ——quiet
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;
}
else if ( 18/13<= y && y <18/11 ){
f = 13;
sprintf( fn ?£/137 )5

sprintf( cmd2 ”/ubr/lOCdl/blﬂ/gphOtOQ ——quiet
——set —config=f—number=% , )
system ( cmd2 );
return f;

}

else if ( 18/14 <=y && y <18/13 ){
f = 14;
sprintf( fn
sprintf( cmd2

"E/147 )
”/usr/local/bin/gphoto2 ——quiet
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——set—config=f—number=%d” , f );
system ( cmd2 );
return f;

}
else if ( 18/16 <= y && y <18/14 ){
£ = 15;
sprintf( fn 7f/167 );
sprintf( cmd2 ”/usr/local/bin/gphoto2 ——quiet
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;
else if ( 18/18 <=y && y <18/16 ){
f = 16;
sprintf( fn , 7f/187 );
sprintf( cmd2 ”/usr/local/bin/gphoto2 ——quiet
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;
}
else if ( 18/20 <=y && y <18/18 ){
f = 17;
sprintf( fn 7 £/20” )
sprintf( cmd2 ”/usr/local/bin/gphoto2 ——quiet
——set—config=f—number=%d” f);
system ( cmd2 );
return f;
}
else if ( 18/22 <=y && y <18/20 ){
f = 18;
sprintf( fn 7 /227 )
sprintf( cmd2 , ”/usr/local/bin/gphoto2 ——quiet

——set—config=f—number=%d”
system ( cmd2 );
return f;
}

£ )

return O0;

¥

else if ( —aft*60+b <= x && x <= bef*x60+b ){
n = atof(1l);
o = atof(m);

c=(18/0—18/n)/2;

e=(18/n+18/0)/2;

d=(x—b)/60;

rad=(d+(aft —bef)/2)*M_PI/(beftaft );
y=cxsin (rad)+te;

18/2.8 <=y ){
5
sprintf( fn 7f/2.87 )3
sprintf( cmd2 ”/usr/local/bin/gphoto2 ——quiet
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;

}

else if ( 18/3.2 <=y & y < 18/2.8 ){
f = 1;
sprintf( fn 7f£/3.27 )3
sprintf( cmd2 ”/usr/local/bin/gphoto2 ——quiet
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;

i (
f

else if

f = 2;
sprintf( fn , 7f/3.57 );

sprintf( cmd2 , ”/usr/local/bin/gphoto2 ——quiet
——set—config=f—number=%d” , f );

(18/3.5 <=y && y <18/3.2 ){

system ( cmd2 );
return f;
}

else if
f = 33
sprintf( fn ”f/4” ),
sprintf( cmd2 ?/usr/local/bin/gphoto2
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;
¥

(18/4 <=y && y <18/3.5 ){

else if
f = 4;
sprintf( fn 7f£/4.57 )
sprintf( cmd2 ”/usr/local/bin/gphoto2
——set —config=f—number=%d” , f );
system ( cmd2 );
return f;

(18/4.5 <= y && y <18/4 ){

}
else if ( 18/5 <=y && y <18/4.5 ){
f = 5;
sprintf( fn ?f£/5” )
sprintf( cmd2 ?/usr/local/bin/gphoto2

——set —config=f—number=%d”
system ( cmd2 );
return f;

£ )

——quiet

——quiet

——quiet

}
/% else if ( 18/5.6 <=y && y <18/5 ){
f = 6;
sprintf( fn 7£/5.67 );
sprintf( cmd2 , ”/usr/local/bin/gphoto2

——set—config=f—number=%d”
system ( cmd2 );
return f;

Y/

else if ( 18/6.3 <=y && y <18/5 ){
f =7;
sprintf ( 7£/6.37 );
sprintf( cmd2 ”?/usr/local/bin/gphoto2
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;

f)s

fn

else
= 8;
sprintf( fn
sprintf( cmd2 ,

/%
f

PE/T1Y )
”/usr/local/bin/gphoto2

——set—config=f—number=%d” , f );
return f;
}/
else if ( 18/8 <=y && y <18/6.3 ){
f = 9;
sprintf( fn 7£/8” )
sprintf( cmd2 ?/usr/local/bin/gphoto2

——set —config=f—number=%d”
system ( cmd2 );
return f;
¥

else if ( 18/9 <=y && y <18/8 ){
f = 10;
sprintf( fn £/97 )5
sprintf( cmd2 , ”/usr/local/bin/gphoto2
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;
¥

else if ( 18/10 <=y && y <18/9 ){
f = 11;
sprintf ( ?£/107 )5
sprintf( cmd2 ”?/usr/local/bin/gphoto2
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;
¥

else if ( 18/11 <=y && y <18/10 ){
f = 12;
sprintf( fn
sprintf( cmd2

£ )

fn

PE/117 )
?/usr/local/bin/gphoto2
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——quiet

——quiet

if (18/7.1 <=y && y <18/6.3 ){

——quiet

——quiet

——quiet

——quiet

——quiet



——set—config=f—number=%d” , f
system ( cmd2 );
return f;

}

else if ( 18/13<= y && y <18/11 ){
£ = 13;
sprintf( fn 7f/137 )
sprintf( cmd2 ”/usr/local/bin/gphoto2
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;

)3

——quiet

else if ( 18/14 <= y && y <18/13 ){
f = 14;
sprintf( fn , 7f/14” );
sprintf( cmd2 ”/usr/local/bin/gphoto2
——set —config=f—number=%d” )
system ( cmd2 );
return f;

}

else if ( 18/16 <=y && y <18/14 ){
f = 15;
sprintf( fn 7f/16” );
sprintf( cmd2 ”/usr/local/bin/gphoto2
——set—config=f—number=%d” f);
system ( cmd2 );
return f;

}

else if ( 18/18 <=y && y <18/16 ){
f = 16;
sprintf( fn 7£/18” )
sprintf( cmd2 , ”/usr/local/bin/gphoto2
——set —config=f—number=%d” f);
system ( cmd2 );
return f;

}

else if ( 18/20 <=y && y <18/18 ){
f = 17;
sprintf( fn 7£/20” )
sprintf( cmd2 ”/usr/local/bin/gphoto2
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;

——quiet

——quiet

——quiet

——quiet

else if ( 18/22 <=y && y <18/20 ){
18;
sprintf( fn 7f/227 ),
sprintf( cmd2 , ”/usr/local/bin/gphoto2
——set—config=f—number=%d” , f );
system ( cmd2 );
return f;

——quiet

return O0;

return 0;

OO0 A4 ISOOO0OOOOOOO

#include <stdio.h>
#include <math.h>
#include <stdlib.h>

char iso [30];
int sensitivity ( int a , int b ,int x )
{

int is;

char c¢cmd1[100];

double d,n,o;

double c,rad,e;

double y;

int p,q,u,r,l ,m,bef, aft;
/x0 0%/

/*000000(000 befl000aftdD )x/

bef = 50;
aft = 25;
/0 0O isox/
1 = 200; /xisox/
p = 1; /+*0 0 0 0=/
/%0 O isox/
m = 1600; /*isox/
q=4; /«0 00 0O=x/
/0000000000 00O0D0=x/
/* 0:100
1:200
2:400
3:800
4:1600
5:3200 x/
if (0<=x && x < —(bef4+10)*60+a ){
is = q;
sprintf( iso "%d” , m );
return is;
}
else if ( —(bef+4+10)*60+a <= x && x < —bef*60+a ){
is = q;
sprintf( iso , "%d” , m );
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
——set—config=iso=%d” is )

——set—config=iso=%d”

system ( cmdl );

return is;
}
else if ( aftx604+a < x && x <= (aft+10)x60+a ){
is = p;
sprintf( iso , "%d” , 1 );
sprintf( cmdl ?/usr/local /bin/gphoto2 ——quiet

is );

system ( cmdl );

return is;
}
else if ( (aft+10)*60+a < x && x < —(aft+10)*x60+b ){
is = p;
sprintf( iso "%d” . 1 )
return is;
}
else if ( —(aft+10)*x60+b <= x && x < —aft*x60+b ){
is = p;
sprintf( iso "%d” o, 1 )
sprintf( cmdl ?/usr/local /bin/gphoto2 ——quiet
——set—config=iso=%d” , is );

——set—config=iso=%d”

60

else

else

else

system ( cmdl );
return is;

if ( befs60+b <=
is = q;
sprintf (
sprintf (

x && x <= (bef+10)%x60+b ){

iso , "%d” , m );
cmdl ”/usr/local/bin/gphoto2 ——quiet
is )
system ( cmdl );
return is;

}

if ( (bef+10)*60+b < x && x <= 86400
is q;
sprintf( iso
return is;

nozd”

, mo);

if ( —bef*60+a <= x && x <= aft*60+a

c=(m-1)/2;

e=(l+m)/2;

d=(x—a) /60;

rad=(d+(bef—aft)/2)«M_PI/(beftaft);
y=—cx*sin (rad)+te;



if ( 3200 <=y ){ y=cxsin (rad)+e;

is = 5;
sprintf( ecmdl , ”/usr/local/bin/gphoto2 ——quiet
——set—config=iso=%d” , is ); if ( 3200 <=y ){
system ( cmdl ); is = 5;
sprintf( iso , 73200” ); sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
return is; ——set—config=iso=%d” , is );
system ( cmdl );
sprintf( iso , 73200” );
return is;
else if ( 1600 <= y && y < 3200 ){ }
is = 4;
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet else if ( 1600 <=y && y < 3200 ){
——set—config=iso=%d” , is ); is = 4;
system ( cmdl ); sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
sprintf( iso , 71600” ); ——set—config=iso=%d” , is );
return is; system ( cmdl );
} sprintf( iso , 71600” );
return is;
else if ( 800 <=y && y < 1600 ){ }
is = 3;
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet else if ( 800 <=y && y < 1600 ){
——set—config=iso=%d” , is ); is = 3;
system ( cmdl ); sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
sprintf( iso , 7800”7 ); ——set—config=iso=%d” , is );
return is; system ( cmdl );
sprintf( iso , 7800” );
return is;
else if ( 400 <=y && y < 800 ){ }
is = 2
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet else if ( 400 <=y && y < 800 ){
——set—config=iso=%d” , is ); is = 2;
system ( cmdl ); sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
sprintf( iso , 7400”7 ); ——set—config=iso=%d” , is );
return is; system ( cmdl );
sprintf( iso , 7400” );
return is;
else if ( 200 <=y && y < 400 ){ }
is = 1;
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet else if ( 200 <=y && y < 400 ){
——set—config=iso=%d” , is ); is = 1;
system ( cmdl ); sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
sprintf( iso , 7200”7 ); ——set—config=iso=%d” , is ;
return is; system ( cmdl );
sprintf( iso , 7200” );
return is;
else if ( 100 <=y && y < 200 ){ }
is = 0;
sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet else if ( 100 <=y && y < 200 ){
——set—config=iso=%d” , is ); is = 0;
system ( cmdl ); sprintf( cmdl , ”/usr/local/bin/gphoto2 ——quiet
sprintf( iso , 7100”7 ); ——set—config=iso=%d” , is );
return is; system ( cmdl );
sprintf( iso , 7100” );
return is;
return 0; }
}
return O0;
}
else if ( —aft*60+b <= x && x <= befx60+b ){
c=(m-1)/2;
e=(1l4m) /2; return 0;
d=(x—b)/60;

rad=(d+(aft —bef)/2)*xM_PI/(beft+aft);
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